70 inv. mass 6: [0.10, 0.20] 70 inv. mass 6: [0.20, 0.30] 10 inv. mass 6: [0.30, 0.40] 70 inv. mass 6: [0.40, 0.50]
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TP inv. mass 6: [1.30, 1.40]
hi 13
Eres o0
Mean 013
2500) RuS 0009532
X2 1 ndf 402.4 1 46
countt 6304 1387
2000f- mean 01349+0.0002
E sigmal  0.002526 0000459
E countz 8304+ 1387
1s00f- can2 01349+ 0.0002
E Sgmaz  0.002526£0.000459
E o7 8465057
E o 72315284
1000~ 9 2801006: 81660402
so0f-
E 2 L L
01 01z 14 T 5 ]
T inv. mass 6: [1.70, 1.80]
h1 17
F Eniies a6
2000p— Mean 0.1327
F RMS 00097
L X2 1 ndf 3326146
L count 63042 132.1
1500~ meant 0,135+ 0000
n sigmal 0002572 0.000488
F countz 2042 132.1
F mean2 0135+ 0,000
1000k sigmaz 0002572 £ 0.000485
_ o7 4242042
L 08 4965326
F 0 4011+ 8319
s00f-
E A L I
0.1 012 14 o6 o5 02
1€ inv. mass 8: [2.10, 2.20]
hl 21
Eres 765
1000) Mean 01313
RMS 001158
X2 1 ndf 253.8/46
800) countl 3151+ 70.2
meant 0.1349:+ 0,0001
sigmal 0002657 £ 0.000055
ool countz 31512702
mean2 0.1349:+ 0.0001
Sigmaz 0002657 £ 0.000055
o7 327310520
400) 8 17852014
0 6131422063
200]
i, . L
0.1 0.12 0.14 0.16 0.18 0.2

70 inv. mass 6: [1.40, 1.50] T inv. mass 6: [1.50, 1.60]
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70 inv. mass 6: [1.60, 1.70]
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